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••  AAnnaallooggiieess  11  Level 3  

  

DDiirreeccttiioonnss:: Choose the word on the right 
that best expresses a relationship similar 
to that of the original pair. 
 

 
A rose is a kind of flower. 
A hammer is a kind of tool.  

Example: 

 
  

##))    BRUSH : PAINT 

PEN : 

AA..  eat 

BB..  write 

CC..  steal 

DD..  have 

 

22))  GLOVES :  HANDS 

SOCKS : 

AA..  eyes 

BB..  ears 

CC..  feet 

DD..  legs 
 

33))  LETTUCE :  GREEN 

STRAWBERRY : 

AA..  orange 

BB..  brown 

CC..  delicious 

DD..  red 
 

44))  FIRE : HOT 

SNOW : 

AA..  frozen 

BB..  yellow 

CC..  warm 

DD..  tasty 
 

55))  INDIA : COUNTRY 

GERMAN : 

AA..  nation 

BB..  family 

CC..  language 

DD..  food 

 
 

 

 
 

 

 
 

 
 

66))  REWARD :  GOOD 

PUNISHMENT : 

AA..  wonderful 

BB..  bad 

CC..  pretty 

DD..  funny 
 

77))  GLASSES : SEE 

CANE : 

AA..  understand 

BB..  sleep 

CC..  walk 

DD..  eat 
 

88))  INTERESTING : FASCINATING 

UNCOMMON : 

AA..  everyday 

BB..  boring 

CC..  late 

DD..  rare 
 

99))  SPEND : SAVE 

GIVE : 

AA..  watch 

BB..  receive 

CC..  say 

DD..  ask 
 

1100))   BAKERY :  BREAD 

CAFÉ : 

AA..  coffee 

BB..  water 

CC..  cake 

DD..  salad 

11))  NOW :  LATER 

EASY : 

AA..  difficult 

BB..  early 

CC..  fun 

DD..  simple 
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Answers and Explanations 

 
1) A 
Now is the opposite of later. Easy is the opposite of difficult. Therefore (A) is correct. 

  
2) C 
Gloves are used to cover the hands. Socks are used to cover the feet. Therefore (C) is correct. 

  
3) D 
A characteristic of lettuce is to be green. A characteristic of a strawberry is to be red. Therefore (D) is correct. 

 
4) A 
A characteristic of fire is to be hot. A characteristic of a snow is to be frozen. Therefore (A) is correct. 

 
5) C 

India is a type of country. German is a type of language. Therefore (C) is correct. 

  

6) B 

You get a reward when you do something good. You get a punishment when you do something bad. Therefore (B) is correct. 

 
7) C 

Glasses can be used to help someone see. A cane can be used to help someone walk. Therefore (C) is correct. 

  
8) D 

Something that is very interesting is fascinating. Something that is very uncommon is rare. Therefore (D) is correct. 

 
9) B 

Spend is the opposite of save. Give is the opposite of receive. Therefore (B) is correct. 

  
10) A 
A bakery makes and sells bread. A café makes and sells coffee. Therefore (A) is correct. 

 
 


